HY®EAL Wi X —
B X 4 IEAEK R T = b A vN—F — R fufEkE
% BEO L B0
AFL# B S F44ET H 15 H FRIT10M
F € i B 836, 000  (NHEBL 76, 00019 )
% AL EE ety B2 . - i 7 - 1 e T3 -25
LT IR
1T # M STAETHI9H ~ SBE3A3LA
% AL& 5 737,000  (NTHEBL 67,0001 )
e SRE | ST4ETH16H
B4 K% Tl FR 4 5 g AALO E i 1 B9 5 B 8 SO BT L D
M o= TG T F AR B v H — DIERE KR > T O HEREETT 5 H D,
(AL EEEIL. HERIREDEREETY)
ra r B o1 [\ o2 [\ % 3 | i %
PR HE (R 670, 000 [ % #L ]
M7 A% A ) S

H) - =e AT 780, 0001




HYEA BRI
F ¥ 4 e N A U S
B BEO L B0
AFL# B S F44ET H 15 H FRIT10M
F € i B 1,298,000 (PNIEEB 118, 0009 )
% AL EE ety R U = iz T A M BT 15 111956
AR R R
1T # M STAETHI9H ~ SF4AF10H31H
% FlL &8 1,265,000 (PNIEEB 115, 00019 )
e SRE | ST4AETHI9H
B4 E%E t e Bt AFLO E I B3 5 B 8 o MEIC XL D
M = RO RYSE S R E LR EE L LT, BEORICHEFEZRY T 550,
(AL EEEIL. HERIREDEREETY)
ra r B o1 [\ o2 [\ % 3 | i %

-~ o 2 pEHE 1, 330, 0001

R AR (R 1, 250, 0001

PSRRI 1,180, 000[1]

HHAREERR R 1, 150, 0004 [ % #L ]




HYEA TFKERE
F ¥ 4 FSHT R KR o 73 BB N > 7 ) — U E
B BEO L B0
AFL# B S F44ET H 15 H FRIT10M
F € i B 1,080,200 (PNIHEB 98, 20019 )
WL EHE MR B3 VR -1 T R A7 W81
MR/ NEEES LE
1T # M STAETHI9H ~ SBE3A 241
% AL& 5 1,026,300 (PNIEEB 93, 30019 )
e SRE | ST4AETHI9H
o4 B % T i HE 44 S A AFL OO E M B 5 B 8 o IEIC XL B
M = MAR S FHOBRMHEFFZ X D720, Ny T U —HOLZHEREZIT S b D,
(AL EEEIL. HERIREDEREETY)
ra r B o1 [\ o2 [\ % 3 | i %

i 5 75 960, 000

() pi = 3 1, 150, 000

IR ES MR

1,200, 000




%ﬁ '/ﬁ‘ 8 %:

HYEA (et o & —
T X 4 I T VR SRS B e B i 2 N — T o N — VSO B H E L~ L F =7 o &P
% BEO L B0
AFL# B S F44ET H 15 H FRIT10M
F € i B 1,755,600 (PNIEEB 159, 60019 )
%FLEFE Rt B UFL R HT A 5 T 1881-1-2
W7 K—
1T # M STAETHI9H ~ S48 A3LH
B E&BE 1,537,800 (PNIHEB 139, 80019 )
e SRE | ST4AETHI9H
o4 B % T i HE 44 S A AFL OO E M B 5 B 8 o IEIC XL B
M = EHBH~VF T a s nkE L0, BRETDH LD,
(AL EEEIL. HERIREDEREETY)
ra r B o1 [\ o2 [\ % 3 | i %
()Rl = B i [ % & )
KRR 1, 480, 0001]
(R FE B 3% i [ 5 58 )
etz SRR S (B [ & 35 )
S Rt AN [ %7 5 ]
Ry F—

1, 398, 000 [ 7% #L ]




